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A. LISTENING

I. Listen to the news and fill in each blank with no more than three words. (7 points)

1. At least 17 people ................................... in the road accident taking place last night.

2. The lorry was travelling at approximately 85 miles an hour, well over the 60 mile an hour speed limit for heavy ......................................

3. 2600 workers have walked out of the Peugeot car factory in protest against the company’s .....................................

4. The latest unemployment figures have been released for this year. They show an increase of ................................ on last year’s figures.

5. The Employment Minister says this inrease has been caused by the relocation of several factories from Britain to the ..................................

6. According to estate agents, it is extremely difficult for first-time buyers to get onto the property ...............................

7. The .............................. of a three-bedroom house in south-east England is now £255,900. 

II. Listen to the conversation and mark the sentences T (true) or F (false). (8 points)

1. ........... Cornwell’s evidence is mainly scientific.

2. ........... She took DNA samples from a letter written by Sickert.

3. ........... Art lovers were angry with Cornwell.

4. ........... Sickert was probably abroad at the time of the murders.

5. ........... Maybrick confessed to the murders in a letter.

6. ........... Ken Morton thinks that Prince Albert was a serial killer.

7. ........... He doesn’t want to say who he thinks the murderer is.

8. ........... He doesn’t think the mystery will be solved soon.

B. PHONETICS

Choose the letter A, B, C, or D to indicate the word whose stress is placed differently from that of the others in each of the following questions. (5 points)

1. A. vocalno


B. childbearing
C. determine

D. eternal

2. A. demolish

B. establish

C. however

D. habitat

3. A. opponent

B. horizon

C. synchronized
D. canoeing

4. A. emphasize

B. contribute

C. maintenance
D. heritage

5. A. literature

B. supremacy

C. temperate

D. delicacy

C. GRAMMAR – VOCABULARY – LANGUAGE FUNCTIONS

I. Mark the letter A, B, C or D to indicate the correct answer to complete each of the following questions. (10 points)

1. She’s such a snob. She behaves ... the Queen.

	A. as if she has been
	B. like she were
	C. as if she were
	D. like she was


2. I would lile to point out that two months have ... since you promised to come and repair my television. 

	A. elapsed
	B. expired
	C. lapsed
	D. tranpired


3. “What would you do in my place?” – “Were ... treated like that, I’d complain to the manager.”

	A. to I be
	B. I to had been
	C. I have been
	D. I to be


4. The forecast has revealed that the world’s reserves of fossil fuel will have ... by 2015.

	A. run out
	B. taken over
	C. caught up
	D. used of


5. He took the pills and a week later he was as right as ...

	A. dawn
	B. water
	C. sunshine
	D. rain


6. Why did you have to bring that subject ... at dinner?

	A. off
	B. out
	C. over
	D. up


7. This research ... the importance of motivating students.

	A. lightens
	B. highlights
	C. lights up
	D. enlightens


8. My brother has studied hard with a view to ... a scholarship.

	A. get
	B. have got
	C. getting
	D. to getting


9. “Can you come away with me for the weekend?”

    “I can’t as I’m decorating the kitchen. ..., my mother is ill.”

	A. Even so
	B. After all 
	C. All the same
	D. On top of that


10. I didn’t know exactly how old he was, but he ... about thirty the first time we met.

	A. should be
	B. should have been
	C. must be
	D. must have been


11. Don’t take the brochures ... they are free.

	A. if
	B. unless
	C. otherwise
	D. as long as


12. On the road side ...

	A. stood the horse
	B. the horse stood
	C. did the horse stand
	D. the horse did stand


13. Kelly wanted to have a live band ... at her wedding.

	A. to be played
	B. play
	C. played
	D. been playing


14. Having been delayed by heavy traffic, ...

  A. it was difficult for her to arrive on time.

  B. her being late was intolerable.

  C. it was impossible for her to arrive on time.

  D. she was unable to arrive on time.

15. Many a person ... to have their houses knocked down for the new supermarket.

	A. has agreed
	B. have agreed
	C. agrees
	D. agree


II. Complete the sentences with the correct form of words in brackets. (5 points)

	1. He bowed to the small girl with elaborate ........................... 

2. ......................... are unpleasant but it’s great to get to a new house. 

3. That she is ............................. has made her have many enemies.

4. They have ............................... arranged the date for the conference. 

5. There are very few ........................... places left on earth. Man has been nearly everywhere.
	COURTEOUS

MOVE

SPEAK

PROVIDE

EXPLORE


III. Identify the underlined part that needs correcting in each sentence. (5 points) 

1. The nitrogen makes up over 78 percent of the Earth’s asmosphere, the gaseous mass 

A


 B

C

surrounding the planet. 
         D
2. The unit of measuring called the foot was originally based on the length of the human foot.

             A            B                                           C                              D

3. Developed in the early 1990s in Canada, synchronized swimming is a sport performing
          A                                                                                                                      B

 almost exclusively by women, although there is some participation by men.

                                                       C               D

4. That computers have made communication faster and easier through e-mails and the 
                                       A                                                            B
Internet are widely recognized.

    C                  D

5. Because of their color and shape, seahorses blend so well with the seaweed in which they 
           A                                                                 
 B                                     C

live that it is almost impossible to see themselves.

                                                        D

IV. Match each sentence in column A with its suitable response in column B. Use each response once only. (5 points)

	A
	B

	1. Could you give me a hand?

2. Do you think that we should use public transportation to protect our environment?

3. Can I get your another drink?

4. You needn’t shout. I’m not deaf.

5. Would you like to meet Mrs. Bruce?
	A. Not just now.

B. Yes, of course.

C. I’m glad you enjoyed it.

D. Oh, I’m sorry.

E. There’s no doubt about it.

F. I find it very interesting.

G. I’d love to.




1. ..................  2. ..................  3. ..................  4. ..................  5. ..................

D. READING

I. Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks. (10 points)

The development of writing (1) __________ a huge difference to the word and we might see it as the beginning of the (2) _________. Pieces of pottery with marks on that are probably numbers have been discovered in China that date from around 4000 BC. Hieroglyphics and other forms of picture writing developed in the (3) __________around Mesopotamia 
(modern-day Iraq), where the ancient Sumerian civilization was based, from around 3300 BC onwards. However, the first (4) ___________ alphabet was used by the Phoenicians around 1050 BC. Their alphabet had 22 letters and it is estimated that it lasted for 1000 years. The first two signs were called ‘aleph’ and ‘beta’, which in Greek became ‘alpha’ and ‘Beth’, which gave us the (5) __________ word ‘alphabet’.

The modern European alphabet is based on the Greek and (6) _________ to other European countries under the Romans. A number of changes took place as time passed. The Romans added the letter G and the letter J and V were (7) _________ to people in Shakespeare’s time. 

If we (8)____________ the history of punctuation, we also find some interesting facts. The Romans used to write quest at the end of a sentence in (9) __________ to show that it was a question. They started to write Qo in (10)_________ of the whole word, and then put the Q above o. In the end, that became the question mark ‘?’.

1. A. did

B. had


C. made

D. took

2. A. media

B. bulletin

C. programme
D. journalism

3. A. distance

B. area

C. length

D. earth

4. A. true

B. accurate

C. exact

D. precise

5. A. new 

B. trendy

C. modern

D. fashionable

6. A. spread

B. appeared

C. was


D. occured

7. A. infamous
B. unpopular

C. unknown

D. hidden

8. A. look into
B. bring on

C. make off

D. hold up

9. A. turn

B. fact


C. order

D. intention

10. A. position
B. space

C. spot

D. place

II. Fill in each blank with one suitable word to complete this passage. (10 points)

In recent years, scientific and technological (1) .......................... have drastically changed human life on our planet, as well as our views (2) .......................... of ourselves as individuals in society and of the universe as a whole. Perhaps one of the most profound developments of the 1970s was the (3) .............................. of recombinant DNA technology, which allows scientists to introduce genetic material (or genes) from one organism into (4) ........................... In its simplest form, the technology requires the isolation of a piece of DNA, either directly from the DNA of the (5) ......................... under study or artificially synthesized from an RNA template by using a viral enzyme called reverse transcriptase. This piece of DNA is then ligated to a fragment of bacterial DNA which has the capacity to replicate itself (6) .......................... The recombinent molecule thus produced can be introduced (7) .............................. the common intestinal bacterium Escherichia coli, which can be grown in very large amounts in synthetic media. Under proper (8) ..........................., the foreign gene will not only replicate in the bacteria, but also express itself, (9) ........................... the process of transcription and translation, to give rise to large (10) ........................ of the specific protein coded by the foreign gene.

III. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. (5 points)

Although only a small percentage of the electromagnetic radiation that is emitted by the Sun is ultraviolet (UV) radiation, the amount that is emitted would be enough to cause severe damage to most forms of life on Earth were it all to reach the surface of the Earth. Fortunately, all of the Sun’s ultraviolet radiation does not reach the Earth because of a layer of oxygen, called the ozone layer, encircling the Earth in stratosphere at an altitude of about 15 miles above the Earth. The ozone layer absorbs much of the Sun’s untraviolet radiation and prevent it from reaching the Earth.

Ozone is a form of ozone in which each molecule consists of three atoms (O3) instead of the two atoms (O2) usually found in an oxygen molecule. Ozone forms in the stratosphere in a process that is initiated by ultraviolet radiation from the Sun. UV radiation from the Sun splits oxygen molecules with two atoms into free oxygen atoms, and each of these unattached oxygen atoms then joins up with an oxygen molecule to form ozone, UV radiation is also capable of splitting up ozone molecules; thus, ozone is constantly forming, splitting, and reforming in the stratosphere. When UV radiation is absorbed during the process of ozone formation and reformation, it is unable to reach the Earth and cause damage there.

Recently, however, the ozone layer over part of the Earth has been diminishing, chief among the culprits in the cause of the disappearing ozone, those that are really responsible, are the chloroflourocarbons (CFCs). CFCs meander up from Earth into the stratosphere, where they break down and release chlorine. The released chlorine reacts with ozone reacts with ozone in the stratosphere to form chlorine monoxide (CIO) and oxygen (O2). The chlorine then becomes free to go through the cycle over and over again. One chlorine atom can, in fact, destroy hundreds of thousands of ozone molecules in this repetitious cycle, and the effects of this destructive process are now becoming evident.

1. It is stated in the passage that the ozone layer .............................................

A. enables ultraviolet radiation to reach the Earth

B. reflects ultraviolet radiation

C. shields the Earth from a lot of ultraviolet radiation

D. reaches down to the Earth

2. According to the passage, an oxygen molecule ..............................................

A. consists of three oxygen molecules

B. contains more oxygen atoms than usual oxygen molecule does

C. consists of two oxygen atoms

D. contains the same number of atoms as the usual oxygen molecule

3. Ultraviolet radiation causes oxygen molecules to .........................................

A. rise to die stratosphere.

B. bum up ozone molecules.

C. split up and reform as ozone.

D. reduce the number of chloroflourocarbons.

4. According to the passage, what happens after a chlorine molecule reacts with an ozone molecule?

A. The ozone breaks down into three oxygen atoms.

B. Two different molecules are created.

C. The two molecules combine into one molecule.

D. Three distinct molecules result.

5. The paragraph following the passage most likely discusses .....................................

A. the negative result of the cycle of ozone destruction.

B. where chloroflourocarbons (CFCs) come from.

C. the causes of the destruction of ozone molecules.

D. how electromagnetic radiation is created.

E. WRITING 

I. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it. (5 points)

1. From the educational point of view, his childhood years had been well spent. (terms)

( .............................................................................................................................. well spent.

2. I couldn’t face telling her what I’d heard. (bring)

( I couldn’t ................................................................................................................................

3. The reason why I was given promotion was that Laurence recommended me. (but)

( I wouln’t ................................................................................................................................. 

4. We’ll have to make up our mind next weekend. (be)

( A ............................................................................................................................................. 

5. Jack couldn’t take part in the competition because he had a bad cold. 

( Going .....................................................................................................................................

II. Use the promts provided to write full sentences to make a complete letter of complaint. (10 points)

Dear Sir/ Madam,

1. I/ like/ express/ concern/ increasing number/ karaoke bars/ city//

...............................................................................................................................................

2. There/ be/ lot/ reason/ I/ object/ places//

...............................................................................................................................................

3. Firtly/ owners/ take/ much money/ those/ come/ sing//

...............................................................................................................................................

4. Secondly/ they/ cause/ much noise/ neighbourhood//

...............................................................................................................................................

5. Thirdly/ there/ number/ students/ play truant/ just/ go/ those places/ sing//

...............................................................................................................................................

6. Last/ least/ these bars/ do harm/ appearance/ city/ because/ too ugly/ flashing lights//

...............................................................................................................................................

7. I/ want/ say/ I/ not/ old-fashioned person//

...............................................................................................................................................

8. I/ hope/ authority/ take/ matter/ careful consideration//

...............................................................................................................................................

9. I/ not mean/ ban them/ but/ there/ should/ effective way/ control/ kind/ entertainment places//

...............................................................................................................................................

10. I/ look/ see/ city council/ do/ this matter//

...............................................................................................................................................

Yours truly,

III. Recently, big trees in some cities have been cut down and replaced with new ones. Write a paragraph of about 150 words to express your opinion on this issue. (10 points)

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

.....................................................................................................................................................

-----The end-----









